
















page 9Steam Generator Installation and Service Instructions

 4211-192    08-22-11

page 8

1. DESCRIPTION OF  STEAM  GENERATOR

The Printed Circuit Assembly (the “PCA”) provides the basic functions necessary to produce 
steam. The PCA controls makeup water, provides a water level permissive for powering the 
elements and provides raw DC power for the system.

The PCA also provides regulated non-interruptible 12 VDC power for the generator control, 
5 VDC for the temperature sensor. It also provides the interface circuitry between the control 
and the PCA. The control provides the room temperature control loop, power switching for 
"soft steam" and an adjustable steam bath timer.

2. MAINTENANCE OF  STEAM GENERATORS
- VISUAL INSPECTION - Whenever the generator is opened, inspect for any evidence of 
  water leaks. Inspect the wiring for any evidence of overheating. Check all electrical
  connections for tightness.

- FLUSH TANK - Flush monthly, or more often, depending on local water conditions.

- FLUSHING PROCEDURE:
1. The generator should be cool.
2. Press the ON/OFF button. The control should light.
3. Open the manual drain valve (if installed) and manually open the Autodrain valve by  moving the lever until it latches.
4. The unit will drain without heating the water.
5. Allow the water to run for a full 10 minutes, then press the ON/OFF button. The control light should turn off.
6. Allow the unit to drain completely. When the water stops, close the drain valves.

3. REPAIR OF GENERATORS
A. ELEMENT REPLACEMENT:
Disconnect power from the unit. Drain the tank. Remove the front and HEATING ELEMENT ACCESS covers. Note the wire connections. (See 
diagram) Remove the element wires. Using a hot water element socket, remove the element. To install a new element, mount a new element gasket 
on the element. Clean the element port and add a light coat of Rectorseal No. 5 pipe thread compound to the threads. Insert and hand tighten 
the element-gasket combination. Notice the element end orientation as shown in diagram. Tighten the element until the orientation is the same as 
diagram, ± 15°. The gasket should be set and tight but not deformed to a rounded or bulbous appearance. If the drain valve was removed reinstall 
it. Reconnect the wiring. Test the unit per SECTION 7: OPERATIONAL TEST. Check for leaks at the element. Replace the front and HEATING ELE-
MENT ACCESS covers.  (Replace with factory supplied elements only)

B. PRINTED CIRCUIT REPLACEMENT:
Printed circuit assembly (PCA) removal and replacement must be performed in the following sequence: any other method can damage the PCA.

  IMPORTANT
  The PCA’s contain static sensitive devices. Static electricity may damage PCA’s. Handle accordingly.

Disconnect power from the unit. Note and tag the positions of all wires that plug into the printed circuit assembly mounted relays. Remove all the 
wires from the relays. When removing these wires, pull on the connector, not the wire. Note the blue wire connected to the shortest of the triple 
pronged water level probe. Disconnect all three wires from the water level probe. Remove PCA from all seven standoffs by pinching the tops. When 
it is completely disconnected, it may be lifted out of the enclosure. (See diagram) To install the board, reverse this procedure. The wire lugs must fir 
tightly onto the relay tabs!  Test the unit per SECTION 7: OPERATIONAL TEST.

  IMPORTANT
  The blue wire connected to MAX on the PCA must be connected to the shortest of the three level probes, the black wire (MID) to the long
  probe with black tubing and the white wire (MIN) connected to the longest probe with white tubing.

C. WATER SOLENOID REPLACEMENT:
Disconnect power from the unit. Turn the water supply OFF. Disconnect the water supply from the water solenoid valve. Remove the front cover. 
Remove the two blue wires from the water solenoid valve. Rotate the self-tightening hose clamp so it can be loosened with a pair of pliers. Squeeze 
the clamp and move it down towards the shelf and off the valve outlet tube. Remove the two 1/4" - 20 hex head bolts and lock washers that attach 
the valve to the chassis. Pull the valve off the rubber fill hose. To install the valve, reverse these instructions. Test the unit per SECTION 7: OPERA-
TIONAL TEST.

D. LEVEL PROBE REPLACEMENT:
Disconnect power from the unit. Remove the front cover. Note where the blue wire is connected to the triple pronged water level probe. Disconnect 
all three wires from the water level probe. Using a 1-1/4" box wrench, remove the level probe. Install a new level probe. Use Teflon Tape on threads 
of probe if required. Tighten until the bottom of the plastic nut is 1/8" to 3/8" inch above the top of the port. See diagram 12. Reattach the three  wires. 
Test the unit per SECTION 7: OPERATIONAL TEST.

  IMPORTANT
  The blue wire connected to “L” on the PCA must be connected to the shortest of the three level probes, the black wire to the probe with black  
    tubing and the white wire to the probe with white tubing.

   IMPORTANT The level probe may be extremely tight. Damage to the insulation or chassis may result unless the tank is properly blocked or  
   supported during probe removal or installation. It may be necessary to completely disconnect and disassemble the generator.

Electrical shock hazard!
Disconnect all electrical power 
before servicing the generator.

 All wiring should be installed by 
a licensed electrical contractor in 

accordance with local
and national codes.

For continued safe operation use 
factory authorized replacement 

parts only.

SECTION  8:  SERVICE
     SEE  ELECTRICAL  INFORMATION  CHART

WARNING



page 10Steam Generator Installation and Service Instructions

 4211-192    08-22-11

DIAGRAM  10 DIAGRAM  11 DIAGRAM  12

HEAT
ELEMENT

GASKET

ELEMENT END 
ORIENTATION

VERTICAL ± 15°

DIAGRAM  13 DIAGRAM  14

DIAGRAM  15

Heating Element
Connections

Line Power
Connections

Ref: Fast-On Lug

Note Tab offset in 
opening on 

relay

MAX
(Blue Wire)

MIN
(White Wire)MED

(Black Wire)

To remove control PCA:
Remove screw from metal standoff 
the carefully lift up on the PCA near 
each nylon mounting post. 

Use needlenose pliers to squeeze
and release locking tabs on mounts 
as needed. 

PCA Power Relays Connections
3 versions available



page 11Steam Generator Installation and Service Instructions

 4211-192    08-22-11

page 10

THIS PAGE INTENTIONALLY LEFT BLANK



page 12Steam Generator Installation and Service Instructions

 4211-192    08-22-11

Section 11

1

28

12

4

29

15 23

7

8

22

19

5

18

20

14

6

3

39

43

24

2

16
911

13

17�

�

34

35

36

33



page 13Steam Generator Installation and Service Instructions

 4211-192    08-22-11

page 12

• For assistance or parts ordering, 
please contact your local Dealer 
or Technical Support at 1-800-363-
0251. Please help us to serve you 
better by:

1. Identifying the problem by using 
the troubleshooting guide in this 
manual.

2. Read Number 12, the UL Ratings 
Label, to obtain your unit's model 
and code number.

• When ordering parts, please 
provide the number, descrip-
tion and quantity needed. When 
ordering wires or wire assemblies, 
please describe the wires by color, 
location and / or their connection 
points.

• Do not return any material 
without first contacting Technical 
Support for a Return Authorization 
Number. Freight must be prepaid 
to Factory.

PARTS  AND/OR  RETURNS:NUMBER  PART NAME DESCRIPTION
1 FRAME CHASSIS
2 TERMINAL POWER INPUT TERMINAL BLOCK
3 COVER FRONT WITH WD LABEL
4 COVER ELEMENT ACCESS
5 TANK TWO ELEMENTS
6 INSULATION BLANKET
7 BRACKET L BRACKET
8 NIPPLE DRAIN NIPPLE
9 TERMINAL OPTIONAL AUTO FLUSH TERMINAL BLOCK
11 CAP CAP, THREAD PROTECTOR
12 LABEL ETL ID and RATING
13 PROBE TRIPLE LEVEL
14 ELEMENT REPLACEABLE ELEMENT
15 VALVE WATER INLET
16 CLAMP SELF-TIGHTENING
17 HOSE WATER
18 CLAMP AUGER
19 VALVE MANUAL DRAIN
20 GASKET ELEMENT
21 BRACKET MOUNTING BRACKET
22 VALVE PRESSURE RELIEF
23 PCA PRINTED CIRCUIT ASSEMBLY, AT
24 LUG GROUND
28 BOLT 1/4-20 x 1/2"
29 WASHER 1/4" LOCK
33 CONTROL T100 CONTROL
34 CABLE 8 CONDUCTOR SHIELDED CABLE (FOR T100)
35 SENSOR TEMPERATURE SENSOR
36 CABLE 2 CONDUCTOR CABLE (FOR TEMPERATURE SENSOR)
29 WASHER 1/4" LOCK
37 STEAM HEAD DISPERSION HEAD (NOT SHOWN)
38 PLACARD SAFETY (NOT SHOWN)
39 LABEL WIRE DIAGRAM
40 FUSES 100mA SLO-BLO (NOT SHOWN)
41 FUSES 1A FAST-BLO (NOT SHOWN)
43 STANDOFF STAND OFF

Technical Support
PO Box 2258
Woodinville, WA  98072
Phone 1-800-363-0251
FAX 425-951-1130
email: support@amerec.com



page 14Steam Generator Installation and Service Instructions

 4211-192    08-22-11



page 15Steam Generator Installation and Service Instructions

 4211-192    08-22-11

page 14



page 16Steam Generator Installation and Service Instructions

 4211-192    08-22-11



page 17Steam Generator Installation and Service Instructions

 4211-192    08-22-11

page 16

2 5/8”

2 5/8”

5”5”

3/4”

Drill four 3/4” holes, level and plumb as shown below

T100 Rough-in: Step 1

Always confirm pattern as printed is to scale before using as a template. 
Some printers will change pattern size during printing.



page 18Steam Generator Installation and Service Instructions

 4211-192    08-22-11

Cut straight edges from hole to hole as shown.

Note: dashed line shows outside edge of T100 control for reference.

T100 Rough-in: Step 2

CUT

CUT

C
U

T

C
U

T

Always confirm pattern as printed is to scale before using as a template. 
Some printers will change pattern size during printing.


